GROUP WRITTEN ASSIGNMENT #1

Due Monday September 21 @ 10:00 pm

(1) Overview:  For this assignment, you will make arguments based on State v. Shaw and the policy of rewarding useful labor about the hypothetical below involving first possession of wild animals.  There are three sub-assignments, each consisting of three arguments on a particular topic: one in favor of each side and one briefly arguing which of the first two was stronger.  I have divided you into teams of three or four students and each team will submit a written response for one of the three sub-assignments.  


To get the most out of the assignment, I strongly suggest that you try to do all three sub-assignments even though I will only be able to read and put comments on the one assigned to your team.  After I have received your written submissions, I will post comments and best student answers from prior years, so you can evaluate your own work.    In addition, for further review, you can try to make the best arguments you can for each party in the hypothetical based on Pierson, Liesner, and the Demsetz excerpt.

(2) Hypothetical:  Farmers in Ohio have been losing chickens and eggs to wild weasels that have become very numerous in recent years.  The state offered a bounty of $10.00 for each weasel a citizen brings to a state game warden.  Frazier and Niles each own a farm adjacent to a state-owned forest where Ohio residents are permitted to hunt weasels.  

Frazier created many traps in the forest by digging holes four feet deep and covering them with sticks and leaves after breaking an egg at the bottom to attract the weasels.  When the weasels fall into Frazier’s traps, they sometimes are injured and unable to escape. Even if they are unhurt, because of the depth of the traps, it takes them about two days to dig themselves out.  Frazier only has time to check and reset the traps every four or five days, so about half the weasels that fall into the traps manage to escape.  

Knowing all this, Niles recently began taking weasels out of Frazier’s traps and turning them in to collect the bounty.  Frazier claims that Niles is committing larceny when he takes the weasels.

(3) Instructions 
(a) For this assignment, follow the General Instructions for All Written Assignments (IM21-22) and the Additional Instructions for Group Written Assignments (IM23) as well as the specific directions provided here. 
(b) Use the lists in part (5) below to determine your teammates and which sub-assignment you must do.  The person marked with an asterisk will serve as coordinator for the team.  For purposes of the heading on your submission, the “name” of each sub-assignment is listed in quotes in both parts (5) and (6).

(c) Your work-product will consist of the three arguments listed in part (6) under your sub-assignment, that you should number 1, 2, and 3 respectively.  Do not repeat the subjects of the arguments I have given you; simply make the arguments.
(d) Your first and second arguments should follow the Common Structure for Arguments described in part (4)(a).  Your third argument should follow the separate instructions for Tie-Breaker Arguments in Part (4)(b).   
(e) Your group may find it helpful to have an initial discussion to formulate the first two arguments and assign drafters for them, then to later discuss the third argument after the first two are relatively complete.  You also may find it helpful to set deadlines for circulating drafts so each of you has a chance to comment on the other students’ work.  
(4) Structuring Your Arguments

(a) A Common Structure for Legal Arguments (Use for Arguments #1 and #2): Lawyers often use the following structure when crafting legal arguments: 

1. You begin by stating a general rule, policy or principle. Sometimes, this can take the form of a description of a case or a group of cases, such as “Where [fact + fact + fact], then [legal result].”
2. If you are making the argument in a formal written document, you then provide a citation to appropriate authority to support the rule, principle or policy you are employing.  You need not do that for this assignment. 

3. Next, you provide information about the situation under discussion that shows why it does or doesn’t fit within the rule, policy or principle.  

4. You then briefly note the conclusion you draw from the application of the rule, policy or principle to the facts of your situation.  

Here are three examples from class (note that there are counter-arguments to each of these arguments):

· A person can obtain property in an animal ferae naturae by bringing it under control “so that actual possession is practically inevitable.”  Liesner.  In Shaw, few of the fish that entered into the nets would escape under ordinary circumstances.  The net-owners were practically assured that when they went to pull up the nets, they would find fish in them.  Because most of the fish that swam into the nets ordinarily ended up in the net-owners’ hands, it seems fair to say that the nets brought the fish under sufficient control to make their possession by the net-owners practically inevitable.  Thus, the fish in the net were the net-owners’ property.  

· Legal rules that are simple to apply are useful because they help prevent uncertainty and quarrels by allowing people to determine their rights easily.  See Pierson.  The trial court in Shaw held that for a net to give the net-owner property in the fish inside it, the net had to be escape-proof.  Because it would be very difficult to prove that a net is escape-proof, net-owners subject to this rule would only know if their net was sufficient after an elaborate investigation.  Because the rule is not simple to apply, the policy favoring certainty suggests that a rule that was easier to prove would be preferable. 

· The majority in Pierson stated that the labor of those who use nets or traps to catch animals “and render escape impossible may be justly deemed” to give them property rights.  Implicitly, the court contrasted the labor of successful trappers with that of Post, which was ineffective in obtaining actual possession of the fox, and therefore did not create property rights.  The net-owners in Shaw labored by setting up nets in public waters.  Although this labor did not succeed in preventing the escape of every fish that entered the net, it did succeed in permanently capturing most of them.  Because the net-owners’ labor was successful in accomplishing its purpose of capturing some fish, it is more like the labor of the trappers discussed in Pierson than like the unsuccessful labor of Post.  To reward this successful labor, the nets should be considered adequate to create property rights for their owners even though some fish do escape. 
(b) Formulating Tie-Breaker Arguments (Use for Argument #3):  The first two arguments in each sub-assignment should be very narrowly focused.  The third argument, in asking you to present reasons that one of the first two seems stronger than the other, leaves you more room to talk about different aspects of the relevant authority as long as you ultimately tie your points back to the merits of the original arguments and don’t drift into more general arguments about who should win the case.  For example, if the first two arguments addressed the language “took reasonable precautions to prevent escape,” you might argue that one of the two arguments seemed stronger because the facts of Shaw suggest that the court believed that “precautions” were “reasonable” if the net-owners were fairly certain that there would be fish in the nets whenever they checked.  Some other guidelines for tie-breaker arguments:

· Don’t just repeat points from the earlier arguments; say something new about why one is stronger.
· If you choose, you may make more than one point in support of the argument you think is stronger.
· Explain (as opposed to simply announcing) why your new point shows that one argument is stronger than the other. 

(5) Teams: Coordinator listed with asterisk* after name.

“Sub-Assignment 1A”
Ajizian, Chris*/  Arnst, Tommy/  Bertschausen, Ian/  Burch, Jillian
Brumund, Brett/  Castillo, Olivia/  Dambuleff, Andrei*/  Fogleman, John
Courtney, Kiana/  Dykes, Jazmine/  Halperin, Dan/  Johnson, Dave*
Hansel, Dylan/  O'Neil, Joseph*/  Shulman, Marissa
Lederman, Ev/  McPherson, Gary/  Shaffer, Colin*
Lemire, Connor*/  Phillips, Candace/  Smilanich, Lauren
Narciso, Dan/  Snodgrass, Jesse/  Utset, Karla*
Nieto, Dariela*/  Sacks, MacKenzie/  Valencia, James
“Sub-Assignment 1B” 

Blaine, Laura/  Brams, Alex*/  Burroughs, Courtney/  Chinea, Alejandra
Burch, Julianne/  Celerin, Dominique/  Ferrer, Amanda*/  Fry, Lee
Emenike, Teiya/  Hernández, Krystal/  Kloosterboer, Agustina/  Larey, Jason*
Henry, Carrie/  Osceola, Curtis*/  Strickland, Jean
Lopez, Joey*/  Rashid, Talal/  Sonenblum, Zach
Marion, Samantha*/  Prather, India/  Solares, Mario
Menda, Carla/  Pijls, Patrick/  Stonebraker, Graham*
Nussbaum, Zach*/  Segal, Molly/  Weissman, Dylan
“Sub-Assignment 1C” 

Brenner, Jared/  Calles Smith, David/  Cardenas, Bobby*/  Dubins, Brittany
Choopani, Eric/  Cisneros, Griset/  Grigoryan, Mariam/  Harris, Brett*
Gray, Jordan/  Karlin, Ayla/  Kurtz, Lauren/  Leavitt, Jeff*
Klotz, Heather/  Pimentel, Bernardo*/  Watanabe, Carmen
Michel, Tim*/  Salvatore, Daniella/  Zim, Jordan
Moe, Kelly*/  Reyes, Luis/  Starkey, Carly
Monteiro, Laura/  Simon, Colin/  Tate, Ryan*
(6) Sub-Assignments


(a) “Sub-Assignment 1A”

(1) Formulate an argument relying on the following passage from Shaw that, at the time Niles took them from the traps, the weasels were Frazier’s property:

To acquire a property right in animals ferae naturae, the pursuer must bring them into his power and control, and so maintain his control as to show that he does not intend to abandon them again to the world at large. 

(2) Formulate an argument relying on the same passage that, at the time Niles took them from the traps, the weasels were not Frazier’s property.

(3) Briefly discuss which of these two arguments you think is stronger (and why).  If your team disagrees on this issue, briefly describe the different positions team members have taken. (“Two/Three of us believe ….  The other student(s) believe(s) …”)


(b) “Sub-Assignment 1B”

(1) Formulate an argument that the facts in the hypothetical are sufficiently like the facts in Shaw that, at the time Niles took them from the traps, the weasels were Frazier’s property.

(2) Formulate an argument that the facts in the hypothetical are sufficiently different from the facts in Shaw that, at the time Niles took them from the traps, the weasels were not Frazier’s property.

(3) Briefly discuss which of these two arguments you think is stronger (and why).  If your team disagrees on this issue, briefly describe the different positions team members have taken. (“Two/Three of us believe ….  The other student(s) believe(s) …”)

(c) “Sub-Assignment 1C”

(1) Formulate an argument that the application of the policy of rewarding useful labor to the hypothetical supports concluding that, at the time Niles took them from the traps, the weasels were Frazier’s property.

(2) Formulate an argument that the application of the policy of rewarding useful labor to the hypothetical supports concluding that, at the time Niles took them from the traps, the weasels were not Frazier’s property.

(3) Briefly discuss which of these two arguments you think is stronger (and why).  If your team disagrees on this issue, briefly describe the different positions team members have taken. (“Two/Three of us believe ….  The other student(s) believe(s) …”)
